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QUESTION 1

There are two BGP routes to 10.200.200.0/24 received from twoexternal peers. Route 1 comes from a neighbor with a
router ID of 10.10.100.1 and a peer IP address of 10.10.30.1, and route 2 comes from a neighbor with a router ID of 

10.10.200.1 and a peer IP address of 10.10.50.1. Both routes have the same MED value, origin value, AS path length,
and local preference number. 

In this scenario, which statement is correct about the active route? 

A. Route 1 will be active because of the peer IP address. 

B. Route 2 will be active because of the peer IP address. 

C. Route 1 will be active because of the router ID. 

D. Route 2 will be active because of the router ID. 

Correct Answer: C 

The router determines the router ID for each peer that advertised a path to the route destination. A lower router ID value
is preferred over a higher router ID value. 10. The router determines the peer ID for each peer that advertised a path to
the router destination. A lower peer ID value is preferred over a higher peer ID value. The peer ID is the IP address of
the established BGP peering session. 

 

QUESTION 2

Referring to the exhibit, which two statements are correct? (Choose two.) 

JN0-649 VCE Dumps | JN0-649 Practice Test | JN0-649 Braindumps                                2 / 8

https://www.pass4itsure.com/jn0-649.html
https://www.pass4itsure.com/jn0-649.html
https://www.pass4itsure.com/jn0-649.html


https://www.pass4itsure.com/jn0-649.html
2024 Latest pass4itsure JN0-649 PDF and VCE dumps Download

A. The host that the route is associated with is multihomed to two leaf nodes. 

B. The route is a Type 1 EVPN route. 

C. The route is a Type 2 EVPN route. 

D. The hostthat the route is associated with is single-homed to one leaf node. 

Correct Answer: CD 

 

QUESTION 3

Referring to the exhibit,traffic ingresses on interface ge-0/0/3 and egresses on interface ge- 0/0/4. Which queue does
traffic with the IP precedence value of 100 use? 
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A. network-control 

B. assured-forwarding 

C. best-effort 

D. expedited-forwarding 

Correct Answer: D 
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QUESTION 4

Referring to the exhibit, which LSA type is used toadvertise 192.168.1.0/24 to R5? 

A. Type 5 

B. Type 4 

C. Type 3 

D. Type 7 

Correct Answer: A 

Area-1 has no external connections. However, Area-1 has static route (172.16.31.0/24) that are not internal OSPF
route. You can limit the external route advertisements to the area and advertise the static routes by designating the area
an NSSA. In an NSSA, the ASBR (vMX1) generates NSSA external (Type 7) LSAs and floods them into the NSSA,
where they are contained. 

Type-7 LSAs allow an NSSA to support the presence of ASBR and their corresponding external routing information. The
ABR (vMX2) converts Type-7 LSAs into Type-5 External LSAs and leaks them to the other areas, but external routes
from other areas are not advertised within the NSSA. 

An admin should check this and change it 

https://www.packetswitch.co.uk/configuring-junos-ospf-stub-and-nssa-areas/
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https://www.juniper.net/documentation/us/en/software/junos/ospf/topics/ref/statement/nssa-edit-protocols-ospf.html 

 

QUESTION 5

You are deploying IP phones in your enterprise networks. When plugged in, the IP phones mustbe automatically
provided with the correct VLAN ID needed for sending voice traffic to the EX Series switches. 

In this scenario, which two solutions are required to accomplish this task? (Choose two.) 

A. Enable LLDP-MED on appropriate access interfaces. 

B. Create two VLANs and assign them as VLAN members to the appropriate access interfaces. 

C. Enable the voice VLAN feature with the appropriate access interfaces and VLAN ID for voice traffic. 

D. Use LLDP on appropriate interfaces. 

Correct Answer: AC 
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